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Solutions

Mean = Total ÷ # of Items

= 640 ÷ 14

= 45.7

To find the median, first order the data:

12, 12, 12, 24, 25, 43, 43, 45, 52, 58, 62, 73, 81, 98

There are 14 values, so we need the midpoint of the 7th and 8th values.

Median = (43 + 45) / 2 = 44

Mode is the value(s) that occur most often, in this case 12 (3 times).
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To find the median, first order the data:

3, 6, 6, 7, 14, 14, 14, 16, 19, 20, 21

There are 11 values, so we need the 6th value.

Median = 14

Mean = Total ÷ # of Items

= 140 ÷ 11

= 12.7

Mode is the value(s) that occur most often, in this case 14 (3 times).

Mean = Total ÷ # of Items

= 108.1 ÷ 8

= 13.5

To find the median, first order the data:

8.3, 9.9, 12.3, 12.7, 13.0, 15.8, 16.1, 20.0

There are 8 values, so we need the midpoint of the 4th and 5th values.

Median = (12.7 + 13.0) / 2 = 12.85

Mode is the value(s) that occur most often, in this case there is NO 
mode (all values appear once only).
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Mean = Total ÷ # of Items

= 1325 ÷ 9

= 147.2

To find the median, first order the data:

102, 134, 134, 134, 142, 155, 156, 181, 187

There are 14 values, so we need the 5th value.

Median = 142

Mode is the value(s) that occur most often, in this case 134 (3 times).

Mean = Total ÷ # of Numbers

15 = (13 + 16 + 15 + 20 + 14 + x) ÷ 6

15(6) = 78 + x

90 = 78 + x

12 = x

The missing number is 12.
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Categorical

Ordinal

Numerical/Quantitative
Categorical

Numerical/Quantitative
Numerical/Quantitative

a) Bar Graph

b) Stem and Leaf Plot

c) Pictogram

d) Circle Graph (Pie Chart)

e) Histogram

f) Circle Graph (Pie Chart)

g) Bar Graph
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The bar graph provides a visual 
representation of each university's 
popularity compared to each other.

The circle graph provides a visual 
comparison of the proportion of the 
popularity for each university 
compared to the whole.

The stem and leaf plot still allows you to 
see the individual data values, where as 
the class intervals of a histogram does not.
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The stem and leaf plot for this data set is not practical at all. It would 
have 50 rows to it and there are only 10 pieces of data!

As the data is so spread out, a histogram would be advisable as you 
can group the data into class intervals to make it more manageable.
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